
Que. Question / Answer (with Option) Correct Answer 

1 Biceps Brachii acts as a (C ) Flexor of elbow

(A) Flexor of knee

(B) Extensor of elbow

(C ) Flexor of elbow

(D) Extensor of knee

2 A swan neck posture is a result of the - (A) Dorsal displacement of the lateral 

bends

(A) Dorsal displacement of the lateral bends

(B) Proximal displacement of the lateral bends

(C ) A & B

(D) None of the above

3 The dinner ………………. before I arrived. (D) had been served

(A) will be served

(B) is served

(C ) has been served

(D) had been served

4
1000 �. ��� 2 ������ 10% �	х	 ��
 ��� ���� (Compound Interest) к����� ��	  ?

(B) 210 �.

(A) 110 �.

(B) 210 �.

(C ) 100 �.

(D) 120 �.

5 “�х����”, “����� �!��� ���	"��”, “#�$%��#” &�� $%��# $'#�� 

$%��#к�� кો� )	 ?
(D) *	��#�+

(A) +�����
(B) +�',���
(C ) #�-./� ���,�
(D) *	��#�+

6 Paralysis of adductor pollicis muscle is found in which condition ? (B) Ulnar nerve paralysis

(A) Median nerve paralysis

(B) Ulnar nerve paralysis

(C ) Brachial plexus injury

(D) All of the above
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Que. Question / Answer (with Option) Correct Answer 

7 An occupational therapist is performing a screening on a patient that has been 

casted recently on the left upper extremity. Which of the following 

statements should the occupational therapist be most concerned about ?

(B) The patient reports, “I have been 

having pain in my left forearm.”

(A) The patient reports, “I didn’t keep my extremity elevated like the doctor asked 

me to”

(B) The patient reports, “I have been having pain in my left forearm.”

(C ) The patient reports, “my left arm has really been itching.”

(D) The patient reports, “the arthritis in my wrists is flaring up, when I put weight 

on my crutch.”

8
0� -�1�#��� “�23к��#� -',�” ��� 4 �+ '��	� �51�-#к��� #�� ����ો.

(B) к��� 4�-#�.

(A) �	67�
(B) к��� 4�-#�.
(C ) ��8.� 7�-�9#
(D) :6.� �к�

9 Give Synonym: To inquire (C ) interrogate

(A) respond

(B) consort

(C ) interrogate

(D) wipe out

10 1 ;#�<�� =��	 к���� >к�ો�<�� ? (D) 1

(A) 10

(B) 100

(C ) 1000

(D) 1

11 Watson test is performed - in which condition - (B) Instability of the scaphoid

(A) Instability of radioulnar joint

(B) Instability of the scaphoid

(C ) A & B

(D) None of the above

12 In which condition pattern of impairment is significant substitutions of scapula 

with attempted arm elevation -

(B) Rotator cuff tear

(A) Rotator cuff tendinitis

(B) Rotator cuff tear

(C ) Adhesive capsulitis

(D) All of the above

13
к-�?< @�	���+ �	;��< #<�	#����A< к�� .�����'B .�A	 .�к���	� #�ો,� ?

(A) .���

(A) .���
(B) C�)� 
(C ) .D��EF
(D) �6�G H-�

14 кIJK H�� -.L��#< ,��Mх :#	 .��  +��� ���� кો#ો N'�ો2 к������ $�	 
)	 ?

(C ) Control Panel

(A) My Computer

(B) System Resources

(C ) Control Panel

(D) Computer System

15 Rohan ………………. (to play) cricket now. (D) is playing

(A) plays

(B) was playing

(C ) has played

(D) is playing
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Que. Question / Answer (with Option) Correct Answer 

16 Effective pinch is almost impossible without - (B) Thumb

(A) Index finger

(B) Thumb

(C ) Middle finger

(D) All of the above

17 An occupational therapist is working in an outpatient orthopedic clinic. During 

the patient’s history the patient reports, I tore 3 of my 4 rotator cuff muscles 

in the past. Which of the following muscles cannot be considered as possible 

being torn ?

(B) Teres major

(A) Teres minor

(B) Teres major

(C ) Supraspinatus

(D) Infraspinatus

18  	 Oк#< =к .�%��#ો =к�#ો Oк 3x :#	 +шк#ો Oк 2x �ો� ,ો ,	 .�%�� кQ 

�ш	 ?
(D) 23x

(A) 6x
2

(B) 5x

(C ) 32x

(D) 23x

19
“к-� -ш�ો��<” ,�Mк� ��# �	��#�� к-�?< *	��#�+ R��#� �,#< �,� ?

(C ) �7ો+��

(A) ���ો+
(B) �	��7
(C ) �7ો+��
(D) ���кો�

20
$'-S ���LA�'# ���� ��T�#� �7� '+�-Uк��M ,�Mк� кો#	 -#>+VE� к���� )	 ?

(B) W�%�*U�#

(A) �7�*U�#
(B) W�%�*U�#
(C ) ���X�� *U�#
(D) Y��*U�#

21 Standarised tools for assessment of CVA include - (D) All of the above

(A) AMPS

(B) Rever mead perceptual battery

(C ) FIM

(D) All of the above

22 The techniques of neuro developmental approach includes - (D) All of the above

(A) Bobath

(B) PNF

(C ) Roods

(D) All of the above

23 ……………… the dinner not ……………….. yet ? (C )

(A) Was ……………… prepared

(B) Have ……………….. been prepared

(C ) Has ………………… been prepared

(D) Will …………………… be prepared

24 �ો p, q, r 4Z[ :-�Z�T� \ H��]к �ો� ,ો ,	�#ો �..�.:. к���ો A�� ? (A) pqr

(A) pqr

(B) pq

(C ) 1

(D) pq + qr + pr

Has ………………… been prepared
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25 “L#	��^_�” #� N'#��A< `�<,� �	хк?<��� \ H"��  #�� a�� )	 ? (A) @<��Z�! �,#0 +�.�!
(A) @<��Z�! �,#0 +�.�!
(B) 2D�Mш�к� 2ો�U�#��� �ો�<
(C ) 2ો�U�#��� -B'�bM
(D) @�	���+ к�4�+�. �	;��<

26 Within the hand which joint is critical for grasp & is considered to be the most 

imortant small joint -

(A) Pip

(A) Pip

(B) Dip

(C ) Mcp

(D) All of the above

27 A child with tactile defensiveness is receiving intervention from an 

occupational therapist using a sensory integrative approach. In introducing 

tactile stimuli to the child, the most appreciate method for the therapist to 

use is to.

(D) Provide deep touch & firm 

pressure & firm pressure where 

the child can see the stimuli

(A) Apply the stimuli in the direction opposite of hair growth with vision occluded

(B) Apply light touch across the face & abdomen with vision occluded

(C ) Provide light brushing across the palmar surfaces of the extremities with the 

child watching

(D) Provide deep touch & firm pressure & firm pressure where the child can see 

the stimuli

28 �,+�,�#� ��A��� �2����#< ш��M��� a�� �ો� )	 ? (A) -.8�� #�!F��
(A) -.8�� #�!F��
(B) -.8�� $�ો>7#
(C ) 'ો��-ш�� '��c2	#	�
(D) .ો>7�� d�ો��!7

29 Put your shoes outside and shut the door. (Change the voice) (A)

(A) You are requested to put your shoes outside and shut the door. / Let the 

shoes be put outside and the door be shut.

(B) Let us put your shoes outside and shut the door.

(C ) The door was shut and your shoes were put outside.

(D) You must put your shoes outside and shut the door.

30 �ો a ≠ 0, b ≠ 0 ,ો (a6
)
3
 (b

4
)
7
 = ................ (C ) a

18
 b

28

(A) a
0
 b

0

(B) a
18

 b
18

(C ) a
18

 b
28

(D) a
28

 b
18

31 Which one is in favor of PNF techniques ? (B) Utilizes mass movement

(A) Equal weight bearing

(B) Utilizes mass movement

(C ) Use of tactile stimulation

(D) All of the above

32 Role of O.T. is burns patient include - (D) All of the above

(A) Prevention of contracture

(B) Functional rehabilitation

(C ) Scar management

(D) All of the above

33 W HU�6� к-� ?< N��ш�к� �ોш<#ો �6� .� �к��b� e�8��#� к�� 2����� A�ો �,ો ? (C )  ����
(A) ���\��
(B) -�`\��
(C )  ����
(D) �����

You are requested to put your 

shoes outside and shut the door. 

/ Let the shoes be put outside 

and the door be shut.

Final Ans Key Page 4 of 23 Dt.  03-05-2016



Que. Question / Answer (with Option) Correct Answer 

34 ��� 2015#ો �.���ш�f#� .�шોU# ����#ો #ો 	� \��Lк�� кો#	 =#��, 

к������ `��� к������ $�K�� ?
(B) Aો�. 4�67��M - 'ો� �ો7�M� - 

:@<@ .�к�
(A) .c�ોш �W��� - Aો�. 4�67��M - $A�� �	к7ો#�87
(B) Aો�. 4�67��M - 'ો� �ો7�M� - :@<@ .�к�
(C ) 'ો� �ો7�M� - K�K�, g� - ,к�кM к0,�
(D) -��<�� к�I' 	� - :@<@ .�к� - ��2����� =8�<

35 Rohan was ………………. Till death by the decoits. (A) hanged

(A) hanged

(B) hung

(C ) hanging

(D) hunged

36 Tinel’s sign at wrist is found in which condition ? (B) Carpel tunnel syndrome

(A) Cubital tunnel syndrome

(B) Carpel tunnel syndrome

(C ) Ulnar nerve paralysis

(D) All of the above

37 A patients presents with stroke involving the hypothalamus. Which of the 

following are not indicative of hypothalamus function ?

(C ) Sensation of pain

(A) Maintains body homeostasis

(B) Thirst cancer

(C ) Sensation of pain

(D) Control of hormone secretion

38 (-21) x (-10) x 35 x 0 + (-5) + 4 x (-15) x 0 = ………………. (A) 0

(A) 0

(B) (-1)

(C ) 1

(D) 6510

39 “.ો#	�” #��#ો .ો#	� к���ો#ો .�h� �х#�� �	хк кો� �,� ? (B) i�#<��� �>7��
(A) ��&6j a�d�
(B) i�#<��� �>7��
(C ) �<�� �ો+M
(D) ��� klZm

40 !. Y��#� ���'����� ��n���� �Aк к�� 08����� $�	��� )	 ? (D) ���.���
(A) '���
(B)  #�.к��b�
(C ) .� �к��b�
(D) ���.���

41 Pain & instability in the central wrist is caused by (C ) A & B

(A) Lunate dislocation

(B) Lunotriquetral instability

(C ) A & B

(D) None of the above

42 An OT has been assigned a patient who has recently been diagnosed with 

Gullian-Barre syndrome. Which of the following statements is the most 

applicable when discussing the impairments with Gullian-Barre syndrome with 

the patients ?

(D) Gullian Barre syndrome does not 

affect breathing in severe cases

(A) Gullian Barre syndrome gets better after 5 years in most all cases

(B) Gullian Barre syndrome causes limited sensation in the abdominal region

(C ) Gullian Barre syndrome causes muscle weakness in the legs

(D) Gullian Barre syndrome does not affect breathing in severe cases
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Que. Question / Answer (with Option) Correct Answer 

43 Use appropriate verb form : The patient ………….. is the doctor had come on 

time.

(A) could have been saved

(A) could have been saved

(B) would have saved

(C ) was saved

(D) will be saved

44 �-'�� 200 #< '7,� >к/�, U���g�� ��кo�� 10% хો� х�!#	 ��,�� ,	#< �	��� 

>к/�, �-'�� ................... N'&.

(C ) 180

(A) 220

(B) 20

(C ) 180

(D) 10

45 $'	� ��R��� �<�M +ો��� шp+#ો .��. ��х��ો. U��qE� .�r�� .��� 
U�� '�A< �ોкો#ો -�s�. Nb�7M +� )	.

(B) '���< ,n\�"�� .��.

(A) �g�A3 ,n\�"�� .��.
(B) '���< ,n\�"�� .��.
(C ) �EbM ,n\�"�� .��.
(D) .J,�< ,n\�"�� .��.

46 Screening tests of shoulder mobility can be done by - (D) All of the above

(A) Reaching overhead

(B) Placing the hand behind back

(C ) Placing the hand behind head

(D) All of the above

47 A 14 year old boy has been admitted to a mental health unit for observation & 

treatment for a broken wrist & shoulder. The boy becomes agitated & starts 

yelling at staff members. What should the occupational therapists first 

response be ?

(A) Create an atmosphere of 

seclusion for the boy according to 

procedures

(A) Create an atmosphere of seclusion for the boy according to procedures

(B) Remove other patients from the area via wheelchair for  added speed

(C ) Ask the patient, “what is making you mad?”

(D) Ask the patient, “why are you doing this, have you thought about what your 

parents might say?”

48 �ો�M��� + �� ��'�� к�� .�U##ો N'�ો2 к��� )	 ? (B) tLuv�ો�	#ો�<��
(A) '���ો�<��
(B) tLuv�ો�	#ો�<��
(C ) �	#ો�<��
(D) ��!hો�<��

49 ……………. People are smart enough not to be cheated. (A) Urban

(A) Urban

(B) Urbune

(C ) Urbun

(D) Urbene

50 кોQ =к #��к����� '������ w	Bu� = …………………. (D) 2πr

(A) πr
2
h

(B) r
2

(C ) πr
2

(D) 2πr

51 Which factor is not included for development of contracture ? (B) Appropriate activity

(A) Rapid development of scarring after healing

(B) Appropriate activity

(C ) Inadequate monitoring after discharge

(D) All of the above
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Que. Question / Answer (with Option) Correct Answer 

52 What is the current evidence regarding the effectiveness of relationship 

development intervention (RDI) for children with autism ?

(C ) RDI produced positive effects in 

children with autism.

(A) RDI was not effective in changing autistic behaviors.

(B) Children who received RDI made progress more slowly.

(C ) RDI produced positive effects in children with autism.

(D) RDI was effective on a short-term basis.

53 “xH��� -'�� ;�” .ો#	� к�� )�+��� ����	��� )	 ? (C ) ��+���6,�
(A) -шх>��<
(B) \ �y�<
(C ) ��+���6,�
(D) �>�2<,

54 Z��,#� ���#� �# :#	 '������ ��B<��� #�� a�� )	 ? (B) ?< *к�ш `�7�к�
(A) ?<�,< T��-, #����#
(B) ?< *к�ш `�7�к�
(C ) ?< ����� ��	ш
(D) N'����A< =к'� #�z

55 What is the ………………..of this rectangle ? (D) breadth

(A) breth

(B) breath

(C ) brath

(D) breadth

56 Modifying a classroom so that a child is able to maneuver his walker to his 

desk and attend to the lesson describes which of the following ?

(A) Environmental modification

(A) Environmental modification

(B) Education and advocacy

(C ) Consultation services

(D) Therapeutic use of self

57 A 64 year old male who has been diagnosed with COPD, and CHF. The patient 

exhibits an increase in total body weight of 10 lbs over the last few days 

during inpatient therapy. The occupational therapist should:

(B) Check the intake and output on 

the patient’s flow sheet

(A) Contact the patient’s physician immediately

(B) Check the intake and output on the patient’s flow sheet

(C ) Encourage the patient to ambulate to reduce lower extremity oedema.

(D) Check the patient’s vitals every 2 hours.

58 =к .�%��#ો =к�#ો Oк :#	 +шк#ો Oк :����	 X :#	 7 - X )	. �� 

N������A< ��,< #�< .�%��, W H� .�%�� к�,� 27 �U��� �ો�, ,ો W H� .�%�� 
шોUો.

(A) 25

(A) 25

(B) 62

(C ) 52

(D) 26

59  <` +�ш#�� �ોкો >�/{� L,�#��� $�<#	 :�zA< Z2<�A-�|� :#	 .................. 
ш<х< �ш	. (.��< �ો7�<���ો шp+ �хો)

(A) '}6�-�|�

(A) '}6�-�|�
(B) *}6� -�|��
(C ) '�6���<|�
(D) *�6��-�|�

60 X� <� ,���кો к�� e�8����� $�	� )	 ? (B) 7��2
(A) х	7�
(B) 7��2
(C ) .� �к��b�
(D) 'ો� �+�
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Que. Question / Answer (with Option) Correct Answer 

61 Poliomyelitis is caused by viral infection in (B) Anterior horn cell

(A) Posterior horn cell

(B) Anterior horn cell

(C ) Muscle

(D) Peripheral Nerves

62 Colle’s fracture occurs at - (A) Distal 1/3rd of radius

(A) Distal 1/3rd of radius

(B) Proximal 1/3rd of radius

(C ) Olecranon process of ulna

(D) Distal 1/3rd of ulna

63 The hand …………….rocks the cradle, rules the world. (A) that

(A) that

(B) which

(C ) who

(D) what

64 =к ��^d, '�.	 �. 210 )	. ,	� �ો� +�# к���#< !~)� ��х	 )	. �ો '���� 
>+�.	 1 �.,  <` >+�.	 2 �. :#	 B<` >+�.	 3 �. =� +�# к�� ,ો �r���� �r� 
к����� >+�. +�# к�M шк� ?

(B) 20

(A) 21

(B) 20

(C ) 10

(D) 42

65 $'	� ��R���A< �<�M +ો��� шp+#ો .��. ��х��ો. ��-�9 ���8�кM= 

������#< :�� ��#� к�M �,<.
(B) к��U��� .��.

(A) ����'+�ો'< .��.
(B) к��U��� .��.
(C ) N'-�, .��.
(D) ��Y� .��.

66 A 64 year old Alzheimer’s patient has exhibits excessive cognitive decline 

resulting in harmful behavior. The physician orders restrains to be placed on 

patient. Which of the following is the appropriate procedure ?

(C ) Communicate with the patient & 

family the need for restrains.

(A) Secure the restrains to the bed rails on all extremities.

(B) Notify the physicians that restrains have been placed properly

(C ) Communicate with the patient & family the need for restrains.

(D) Position the head of the bed at a 45 degree angle.

67 A 17-year-old with a complete meningomyelocele at the T9 level is diagnosed 

with diabetes. The occupational therapy home education program will MOST 

likely focus on:

(D) Child initiated pressure relief

(A) Regular skin inspection by a parent

(B) Upper extremity strengthening

(C ) Bowel and bladder care

(D) Child initiated pressure relief

68 :Z�#	 =-.>7�M A�	� )	 ,ો N'������ к�� ��.��4�к '+�A���� .	�# 

N'�ો2<  #ш	 ?
(B) NaHCO3

(A) NaCl

(B) NaHCO3

(C ) CaCO3

(D) HCl

69 I agree ………….you. (B) with

(A) to

(B) with

(C ) at

(D) from
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70 7.25% �	х	 �. 5432 #� =к ���#� .�+� ���� :#	 ��
 ��� ���� �~�	#ો 
,u��, �. ................... A��.

(C ) 0

(A) 393.82

(B) 10.82

(C ) 0

(D) 50.82

71 In burns the use of orthosis is indicated in which phase ? (D) All of the above

(A) Shock phase

(B) Healing phase

(C ) Rehabilitative phase

(D) All of the above

72 Which is correct in favor of Motor Neuron Disease ? (D) All of the above

(A) Fatal

(B) Progressive

(C ) Neurodegenerative

(D) All of the above

73
$'	� ��R#ો �ોv� -�к8' '.�+ к�M �>�*�ો2#ો :A� $'ો. - ���кો '�7�ો

(C ) �<b�шA<  ો���
��.

(A) �ો� ���кો к��.
(B) � H�ો '�7M  ો���
��.
(C ) �<b�шA<  ો���
��.
(D) # 2�,< ��^d,#	  ો���
��.

74 1960��� ����	� .D *A� Y����, -�U�#.Z�#< .�к��#	 кો#� ���� ш'A 

�	�7������� $��� �,� ?
(C ) �-�ш�к� ������

(A) ���+#��� Uો�>к��
(B) !6{���� ��41к
(C ) �-�ш�к� ������
(D) ��#-./� ����

75 What time is it now ……………..your watch ? (B) in

(A) by

(B) in

(C ) at

(D) to

76 A right-hand-dominant patient with left hemiplegia receives instruction to 

resume independent driving. The occupational therapist should recommend 

which of the following ?

(B) A spinner knob on the steering 

wheel

(A) Palming the steering wheel

(B) A spinner knob on the steering wheel

(C ) Hand controls for break and gas pedals

(D) A left-sided accelerator pedal

77 What type of intervention is described when providing occupational therapy 

services in the classroom by working with children with special needs one-on-

one or in small groups ?

(C ) Inclusive

(A) Direct

(B) Consultative

(C ) Inclusive

(D) Indirect

78 20 \�L,кો#< W H� >к/�,��� 22 \�L,кો �	�,� .................... % хો� `�. (D) 100/11

(A) 5

(B) 10

(C ) 20

(D) 100/11
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79 $'	� ��R#ો :��к�� ��х��ો. >+ш���7� 7ો��� ��vK��. (C ) :-,ш�ો^d,
(A) jE���,
(B) :#6��
(C ) :-,ш�ો^d,
(D) L�Z��ો^d,

80 $r�-#к :A���� Z��,��� R��A< O+��'B#ો *���Z к������ $��ો ? (C ) 1860

(A) 1863

(B) 1861

(C ) 1860

(D) 1862

81 Measurement of axillary crutches ? (A)

(A) 5 cm below posterior axillary and 15 cm laterally with patient in supine lying

(B) 7 cm below anterior axilla and 10 cm laterally with patient in standing position

(C ) 4 cm below anterior axilla and 10 cm medially with patient supine lying

(D) 5 cm below post axilla and 12 cm laterally with patient standing

82 The first occupational therapy school in India was started at (C ) Bombay

(A) New Delhi

(B) Nagpur

(C ) Bombay

(D) Indore

83 He is a ………………..fellow. (B) coarse

(A) course

(B) coarse

(C ) cource

(D) courase

84 =к -Bкો�#< '>�-�-, 53 .	�< )	. '���<  �x�  к�,�  <`  �x�   ��< )	 :#	 
B<0  �x�  5 .	�< �U��� )	, ,ો .DA< #�#<  �x���� ��' шોUો.

(A) 12 .	�<

(A) 12 .	�<
(B) 14 .	�<
(C ) 18 .	�<
(D) 13 .	�<

85 ‘+ો���’ шp+#ો .��ો .��#�A3 шp+ �хો. (C ) к>b#
(A) .����
(B) �ો���
(C ) к>b#
(D) ������

86 Which physical development work-sheet may be used to evaluate the job ? (A) GULHEMP

(A) GULHEMP

(B) GULHAMP

(C ) GOLHEMP

(D) GULHEL

87 The PWD Act was passed in the year - (A) 1995

(A) 1995

(B) 1993

(C ) 2005

(D) 1986

5 cm below posterior axillary and 

15 cm laterally with patient in 

supine lying
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88 #<�	#����A< к�ો O,�f�� :h -'�� H��M h�-A#ો #A< ? (C ) ADH

(A) ACTH

(B) GH

(C ) ADH

(D) TSH

89 Worn brown was appreciated for this ……………behaviour. (A) urbane

(A) urbane

(B) urban

(C ) urbun

(D) urbene

90 +. к�ો7��� к���� a H6� �ો� ? (D) 8

(A) 5

(B) 6

(C ) 7

(D) 8

91 If the joint capsule is not tight & accessory motions are normal, the therapist 

should test for -

(C ) A & B

(A) Extrinsic tightness

(B) Intrinsic tightness

(C ) A & B

(D) None of the above

92 Moberg pick-up test is an example of - (C ) Functional test

(A) Modality test

(B) Objective test

(C ) Functional test

(D) Provocative test

93 ‘к���# � �;�’ ��-,#ો .�>�n� *к�� ����ો. (D) *��. -# �U
(A) �4�, -# �U
(B) ��L� -# �U
(C ) �>�B -# �U
(D) *��. -# �U

94
��#� �-U���� �d,к�ો#< х��< U���,ો A	�	.	�<$ �ો2 $ .+M#ો х,�#�к 

�ો2 ��#����� $�	 )	. $ �ો2#� -#��B� ,A� ,	#< .�����#	 �	2 $'�� 
‘!6��#	ш#� A	�	.	�<$ 7�’ к�� >+�.	 �#������� $�	 )	 ?

(B) 8, �	

(A) 18, x�#
(B) 8, �	
(C ) 8, ����
(D) 18, =-*�

95 Give plural form of : ‘mouse’ (B) mice

(A) mouses

(B) mice

(C ) mousis

(D) mices

96 EDAQ stands for - (B)

(A) Education of daily activity questionnaire

(B) Evaluation of daily activity questionnaire

(C ) Evaluation of domestic activity questionnaire

(D) None of the above

97 Occupational therapy management of pain in cancer patient is - (C ) A & B

(A) Incorporating relaxation & stress management

(B) Addressing emotional pain at the loss of function, helping them to adopt and 

cope with the loss

(C ) A & B

(D) None of the above

Evaluation of daily activity 

questionnaire
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98 =к �Lg � �. 400 ��� �	�,� �	��� >к/�,#� 1/10 Z�2#ો #uો ��,ો �ો� ,ો 
,	#< '7,� >к/�, �. ................... �ો�< �ો!=.

(A) 360

(A) 360

(B) 440

(C ) 40

(D) 10

99 ‘.ો7 ,��<#	 X H! �
��’ �>�*�ો2#ો :A� ����ો. (A) W�nK� '��
��
(A) W�nK� '��
��
(B) кa��к ��A	 ��M X H! �
��
(C ) '7��� u���< X H! �
��
(D) 7� � '7х	 ;.;.�� �;< �
��

100 Y����, .�к�� ���� -#-�9, “'-�B ��B�U�� -�к�.  ો7�” ���� #<�	 ����	� 

��B�U��ો '5кM к�� ��B�U��ો#ો .���	ш к������ $�	� )	 ?
(C ) 7�кો�, 42�#��, '��<,���, ���к�, 

.ો�#�A
(A) '��<,���,  �����0, O �0, .ો�#�A, 7�кો�
(B) .ો�#�A, ���к�, O �0, ������ ��>+�--��\��, 7�кો�
(C ) 7�кો�, 42�#��, '��<,���, ���к�, .ો�#�A
(D) ���к�,  �����0, O �0, .ો�#�A, ш����0

101 In CVA, the person is unable to see half of his visual fields on the affected side 

which is called -

(B) Homonymous hemianopia

(A) Nystagmus

(B) Homonymous hemianopia

(C ) Quadrantanopia

(D) None of the above

102 A patient presents with an aneurysm of the middle cerebral artery (MCA). 

Which of the following are not aneurysm precautions ?

(D) Limit suctioning

(A) Avoid rectal temperatures

(B) Limit visitors

(C ) Avoid valsalva’s maneuver

(D) Limit suctioning

103 He is taller than his brother. (Change the degree) (B) His brother is not so tall as he.

(A) His brother is less taller than him.

(B) His brother is not so tall as he.

(C ) His brother is not so tall as him.

(D) His brother is as tall as he.

104 =к .�%��#� 8 2�����A< 5  �+ к�,� ��g� '>���� ,	 .�%��#� 5 2�� к�,� 
4 �U��� )	, ,ો .�%�� шોUો.

(D) 3

(A) 6

(B) 5

(C ) 7

(D) 3

105 ‘Uો�M7�’ шp+#ો '�������< ����ો. (A)  �+
(A)  �+
(B) 2��
(C ) Zc.
(D) �ો�

106 The inability to recognize form, depth & position of objects is called - (B) Spatial relation disorder

(A) Amnesia

(B) Spatial relation disorder

(C ) Body scheme disorder

(D) All of the above

107 Which technique advocates about correct positioning ? (B) Bobath

(A) PNF

(B) Bobath

(C ) Roods

(D) Ayres
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108 ���E���� хો��к#� '��##< *>���#< ш�$, R��A< A�� )	 ? (D) W�х
(A) �b�
(B) хો��к #�M
(C ) #���� �,�o��
(D) W�х

109 Make negative : Only he can solve this problem. (A)

(A) None but he can solve this problem.

(B) Not anyone accept he can solve this problem.

(C ) Everyone can never solve this problem.

(D) All cannot solve this problem.

110 7.5% �	х	 =к �к����  	 ������ .�{�  ���� �. 1200 �ો�, ,ો  	 ������ ��
 ��� 

���� �. .................... A��.

(B) 1245

(A) 645

(B) 1245

(C ) 1290

(D) 600

111 The occupational therapist use which type of treatment technique for 

managing scar ?

(D) All of the above

(A) Pressure therapy

(B) Silicon gel

(C ) Zinc oxide tape

(D) All of the above

112 A patients exhibits signs in increased ICP intracranial pressure. Which of the 

following interventions are not required ?

(A) Elevate HOB to 50 degrees

(A) Elevate HOB to 50 degrees

(B) Limits suctioning performed

(C ) Set up quite environment

(D) Provide minimal sensory stimulation

113 “$�<��” ,�'+ો шp+ )	 &#ો :A� a�� Aш	 ? (D) $  �x�
(A) Z�4��ો
(B) к��ો ���.
(C ) х�M+
��
(D) $  �x�

114 Z��,<�  �U���#ો :�� R��A< ш� A�ો �,ો ? (D) 15 #�	I �, 1948

(A) 26 `6K�$�M, 1950

(B) 26 #�	I �, 1949

(C ) 15 �2E�, 1947

(D) 15 #�	I �, 1948

115 Find out the correct spelling : (A) Illustration

(A) Illustration

(B) Illusteration

(C ) Ilustration

(D) Illustretion

116 Toddler and Infant Motor Evaluation (TIME) covers which performance 

component ?

(B) Neuromuscular

(A) Sensorimotor

(B) Neuromuscular

(C ) Only Sensory

(D) Only Motor

117 Therabend is used for - (A) Resistive exercise of U/E

(A) Resistive exercise of U/E

(B) Co-ordination exercise of U/E

(C ) Endurance exercise of U/E

(D) None of the above

None but he can solve this 

problem.
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118 *A� '��� *���-,к :-�Z�T� .�%���#< .��.�M ..................... (D) 5.6

(A) 3.6

(B) 7.8

(C ) 3.4

(D) 5.6

119 ‘��-,’ шp+ ���� -�к8'ો���A< .��#�A3 шp+ ����ો. (B) �	+
(A) s	,
(B) �	+
(C ) ?�
(D) -���.<

120 кIJK H��  �U к��� ���� к�� -�к8'#	 '.�+ к�шો ? (C ) Turn off Computer

(A) Log off Computer

(B) Switch off Computer

(C ) Turn off Computer

(D) Restrat off Computer

121 Ulnar nerve injury occurs in which location ? (A) Canal of guyon

(A) Canal of guyon

(B) Cubital tunnel

(C ) Radial tunnel

(D) None of the above

122 An Occupational Therapist observes a patient's family member perform the 

valsalva's maneuver when lifting a patient. Which of the following does not 

occur with the valsalva's maneuver?

(B) Increased return of blood to the 

heart

(A) Slowing of the pulse

(B) Increased return of blood to the heart

(C ) Increased intrathoracic pressure

(D) Exhalling with the glotties & nose closed

123 Use appropriate verb form : By this time tomorrow, I ………………my revision. (C ) will have finished

(A) will finished

(B) could finish

(C ) will have finished

(D) will be finished

124 1 ;#�<����� к+ U���,< ���кM��� к���� 4��� '��< .��� ? (D) 1000 4���
(A) 1 4���
(B) 10 4���
(C ) 100 4���
(D) 1000 4���

125 ‘&�#	 кો! ш�� #A< =’ - шp+.W H� ���� =к шp+ $'ો. (B) :`,ш��
(A) :��
(B) :`,ш��
(C ) -#�ш��
(D) w-B�

126 Grip strength is measured by (A) Dynamometer

(A) Dynamometer

(B) Volumeter

(C ) Gripo-meter

(D) None of the above

127 THERAPY PUTTY IS USED FOR - (A) Hand strengthening

(A) Hand strengthening

(B) Hand co-ordination

(C ) Mild-line orientation

(D) All of the above
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128 .0�ો��� �ો�� ��,< .�I�,� :#	 4Z[,�#ો $U�� к�ો )	 ? (D) �#<#ો
(A) '	ш<�
(B) ��2X HBો
(C ) O2ો
(D) �#<#ો

129 Select single word for the following phrase: "A place where mentally 

incompetent or unbalanced people are cared for"

(B) Asylum

(A) Orphanage

(B) Asylum

(C ) Destitute

(D) Decomposer

130 =к к��� H� -Bкો�#< '>�-�-, 40 .	�< )	. ,	#� '������ ��' к�� к�,� 2 .	�< 
�� :#	 �	U��� ��' к�� к�,� 9 .	�< �� )	. ,ો -Bкો�#� '��� :#	 �	U��� 
��' шોUો.

(B) '������ ��' 15 .	�<, �	U��� ��' 8 

.	�<

(A) '��ો = 12, �	U = 8

(B) '������ ��' 15 .	�<, �	U��� ��' 8 .	�<
(C ) '��ો = 5, �	U = 12

(D) '��ો = 7, �	U = 24

131 Symptoms in carpel tunnel syndrome include - (D) All of the above

(A) Night pain

(B) Tingling in the thumb, index finger & middle finger

(C ) Wasting of thenar musculature

(D) All of the above

132 A patient exhibits signs of cerebellar dysfunction. Which of the following is not 

a priority with the assessment ?

(D) Assessment of cardiac condition

(A) Assessment of gait

(B) Assessment of balance

(C ) Assessment of muscle function

(D) Assessment of cardiac condition

133 ‘���+��’ .��.#ો *к�� к�ો )	 ? (B) к��U���
(A) ,n\�"��
(B) к��U���
(C )  ���<>�
(D) ���

134 ,�&,���� к~) e�8����� $�	� Uો�7ો х�,	 �ો`=� 'ો�<. к�3�#< 
кો6u�6.��� Z��,#� �7�*U�# ?< #��6jZ�! �ો+M ���� к! �	 .�Q� ��8�< 
W Hк����� $�< ?

(C ) "Indian Police in service of the 

Nation"

(A) "Indian Police for service of the Nation"

(B) "Indian Police to service of the Nation"

(C ) "Indian Police in service of the Nation"

(D) "Indian Police at the service of the Nation"

135 Find out the material noun. (D) Gold

(A) Folk

(B) Army

(C ) Team

(D) Gold

136 Asking a client to grasp a piece of paper between the thumb & index finger, is 

a test for

(A) Ulnar nerve

(A) Ulnar nerve

(B) Median nerve

(C ) A & B

(D) None of the above
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137 ADLs are typically limited by which problems in respiratory diseases ? (C ) A & B

(A) Dyspnoea

(B) Fatigue

(C ) A & B

(D) None of the above

138  cк к�� *к��#� х�,� '� ���� $',< #A<, '��g � ��} �	 )	 ? (D) к�6� х�g �
(A) .	�zv. х�g �
(B) >�к�z2 х�g �
(C )  ��U< W�+, х�g �
(D) к�6� х�g �

139 #<�	 $'	� -�к8'ો���A< .��< �ો7�< шોU<#	 �хો. (D) �-ш���ો
(A) �.<���ો
(B) �-ш$�ો
(C ) �ш<���ો
(D) �-ш���ો

140 PESA ш� ���� ;7��ો ? (B)

(A) 73�ો  �U��� X�U��ો :��X H4�-5#� -�L,��ો��� ��Y� '�7��.
(B) $>+��.< -�L,��ો��� '����,ો ���� -�ш	� �ો2��! к���.
(C ) :��X H4�-5 �+ к���.
(D)  �U���#< :��X H4�-6#� -�L,��ો��� '����,ો#< ��#� к���.

141 An individual with spinal cord injury uses mouth stick to write in which 

condition ?

(B) Loss of upper extremity 

movement

(A) Weak upper limb movement

(B) Loss of upper extremity movement

(C ) Loss of trunk control

(D) Lack of head control

142 Which cord is not affected in paraplegia ? (B) Cervical

(A) Thoracic

(B) Cervical

(C ) Lumbar

(D) Sacral

143 Allow your elders to know your activities at school. (Use 'Let') (A)

(A) Let your elders know your activities at school.

(B) Let your elders allow to know your activities at school.

(C ) Let your elders allow to be known your activities at school.

(D) Let elders be known to your activities at school.

144 *A� '��� *���-,к :-�Z�T� .�%���#< .��.�M ..................... A��. (D) 5.6

(A) 3.6

(B) 7.8

(C ) 3.4

(D) 5.6

145 $'	� к���,#ો .��ો :A� шોU<#	 �хો. ‘#���
�� #>� :#	 �2��� �����’ (B)

(A) #���� ���� �2��� ������ ��vK��.
(B) к��A< )�к��  ��#�� к������� $�	.
(C ) #��,�� # $�7��� ,	A< �2��� ������ )	 ,	
�� к���
(D) #���� ���� �2���  �� � �ો��� #�ોg ��.

$>+��.< -�L,��ો��� '����,ો 
���� -�ш	� �ો2��! к���.

к��A< )�к��  ��#�� к������� 
$�	.

Let your elders know your 

activities at school.
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146 An occupational therapist on an acute, impatient, psychiatric unit arranges the 

seats for a group discussion, the room is a small and there are eight people in 

the group. Two of the members have been diagnosed with schizophrenia, 

paranoid type. What is the best arrangement of the room ?

(B) Nine chairs placed in a circle with 

no assigned seats

(A) Eight chairs placed around a large table with the therapist at the front of the 

room

(B) Nine chairs placed in a circle with no assigned seats

(C ) Nine chairs placed around a large table with assigned seats & the therapist 

5/w the two persons schizophrenia

(D) Two semi circle of four chairs facing the therapist C the two patients C 

schizophrenia in the front now

147 Which is the part of jebson hand function test ? (A)

(A) Picking up small objects & placing them in a container

(B) Simulated eating

(C ) Moving empty large cans

(D) All of the above

148 !6LK�4�##ો f�� к�g �� O2 кK�� )	 ? (A) L��{� -'/7
(A) L��{� -'/7
(B) �b�
(C ) ���,
(D) -'S�ш�

149 "My hour has come", thought he "Let me meet death like a man." (Turn into 

Indirect speech)

(C ) He thought his hour had come 

and he should meet death like a 

man.

(A) He thought his hour has come and he should meet death like a man.

(B) He thought that his hour has come and he will meet death like a man.

(C ) He thought his hour had come and he should meet death like a man.

(D) He thought his hour had come and he can meet death like a man.

150 �. 160��� 45 #���2< �	�,� 20% хો� `� )	. ,ો �. 112��� к���< #���2< 
�	���A< 20% #uો A�� ?

(A) 21 #���2<

(A) 21 #���2<
(B) 52 #���2<
(C ) 90 #���2<
(D) 15 #���2<

151 During the first 2 to 4 months after nerve suture, axons regenerate & travel 

through the hand at a rate of about -

(A) 1 mm per day

(A) 1 mm per day

(B) 1 mm per month

(C ) 2 mm per month

(D) 2 mm per year

152 Which deformity is commonly seen in the finger in Rheumatoid Arthritis ? (C ) A & B

(A) Swan neck

(B) Boutonniere

(C ) A & B

(D) None of the above

153 #<�	 $'	� -�к8'ો���A< .��� .��ો�к���� ��R шોU<#	 �хો. (A)

(A) .D#	 =�ો N'+�ш $'	 к� .�.�� -�y�� )	.
(B) .D#	 =�ો N'+�ш $'	 )	 .�.�� -�y�� )	.
(C ) .D#	 =�ો N'+�ш $'	 n���� .�.�� -�y�� )	.
(D) .D#	 =�ો N'+�ш $'	 ,ો .�.�� -�y�� )	.

Picking up small objects & placing 

them in a container

.D#	 =�ો N'+�ш $'	 к� .�.�� 

-�y�� )	.
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154
7�6��к�#< �++A< Y����, .�к��� к�� e�8����� �ો��� -�67u��� NG�� к��� )	 ?

(A) `�#2�

(A) `�#2�
(B) ��M.�2�
(C ) ��.�7
(D) 2<�-.ો�#�A

155 Give synonym: 'Diligent' (C ) Hard working

(A) Idle

(B) Lazy

(C ) Hard working

(D) Caring

156 An occupational therapist at an outpatient clinic is returning phone calls that 

have been made to the clinic. Which of the following calls should have the 

highest priority for medical intervention ?

(B) A patient that received reports, “I 

can’t feel my fingers in my right 

hand today.”

(A) A home health patient reports , “I am starting to have breakdown of my heels”

(B) A patient that received reports, “I can’t feel my fingers in my right hand 

today.”

(C ) A young female reports, “I think I sprained my ankle about 2 weeks ago.”

(D) A middle aged patient reports, “my knee is still hurting from the TKR.”

157 Complete spinal lesion at the level of C-4 or above will create (A)

(A) No active movement of upper extremity & hands

(B) Only active movement of upper extremity & hands

(C ) No passive movement of upper extremity & hand possible

(D) None of the above

158  	 .�%��#ો .����ો 45 )	. ,	�#ો Y��ોS� 1:2 )	, ,ો ,	 .�%��� шોUો. (C ) 15, 30

(A) 12, 24

(B) 11, 22

(C ) 15, 30

(D) 21, 24

159 $'	� ��R���A< .�+� ��Rો ��� '�7ો� кોQ .�"��  ��	 ,ો = NZ� AQ �Q#	, 
�H+M#	, ,��M� '�7M, NbM#	, �ો7�  	b���#	 ��M Up ો '� �2��	 )	.

(D)

(A) кો! .�"��  ��	 )	 ,ો = �Z� A! �,�. �H+M#	 ,��M� '�7M �b,�. �ો7�  	b���#	 
Up ો '� �2��	 )	.

(B) кો! .�"��  ��	 )	. = �Z� AQ `� )	. ,��M� '�7M#	 �ો7�  	b���#	 ��M Up ો 
'� �2��	 )	.

(C ) кોQ .�"��  ��	. = �Z� AQ `�. ,��M� '�7�. �ો7�  	b���#	 Up ો �2��	.

(D) кોQ .�"��  ��	 )	. = �Z� AQ `� )	. �H+� )	. ,��M� '�7M �b� )	. �ો7�  	b���#	 
Up ો '� �2��	 )	.

160 ‘g��.<_���’ LA� к��  	 08��#< �+ N'� $�	� )	 ? (B) :����< - x�#�2�
(A) x�#�2� - 'ો� �+�
(B) :����< - x�#�2�
(C ) :����< - Z��#2�
(D) 'ો� �+� - +��G H-� ���к�

кોQ .�"��  ��	 )	. = �Z� AQ `� 

)	. �H+� )	. ,��M� '�7M �b� )	. 
�ો7�  	b���#	 Up ો '� �2��	 )	.

No active movement of upper 

extremity & hands
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Que. Question / Answer (with Option) Correct Answer 

161 An occupational therapist has been instructed to provide hand wound care for 

a patient that has active TB & HIV. The occupational therapist should wear 

which of the following safety equipment ?

(D) Goggle, mask, gloves & gown

(A) Sterile cap, gloves, mask & proper shoe wear

(B) Surgical gloves, mask & proper shoe wear

(C ) Double gloves, gown & mask

(D) Goggle, mask, gloves & gown

162 Reliable Test for Hand Function is - (D) All of the above

(A) Purdue peg board test

(B) Crawford small parts dexterity test

(C ) Minnesota manual dexterity test

(D) All of the above

163 Give opposite gender for : 'Ram' (A) Ewe

(A) Ewe

(B) Laxman

(C ) Ramila

(D) Goddess

164 (a
10

)
3
 ÷ (a

6
)
5
 = (T��� a ≠ 0) (A) a2

(A) a
2

(B) a
24

(C ) a
30

(D) a
0

165 ‘�#��� 2��b ����<’ шp+#ો �>�*�ો2#ો .��ો :A� �хો. (C ) �#ો�# #�M к�
��
(A) �#��� �.< �
��
(B) �#��� !~)� к��<
(C ) �#ો�# #�M к�
��
(D) �#ો��A# к�
��

166 Craft for activity is used in hand injuries cases, it may be (D) All of the above

(A) Macrame

(B) Turkish knot weaving

(C ) Clay molding & wood working

(D) All of the above

167 BALTIMORE therapeutic equipment (BTE) IS USED FOR - (C ) A & B

(A) Work Evaluation

(B) U/E strengthening

(C ) A & B

(D) None of the above

168 Y�"�jtE�#< х��< U���,< ��^d,��� �Lg ���� *-,4 /  R�� ���� )	 ? (B) #	B'��#< '�)�
(A) #	B'��#< $2�
(B) #	B'��#< '�)�
(C ) #	B'�� '�
(D) $!>�. '�

169 Our teacher told us that knowledge is power. (Change the voice) (A) We were told by our teacher that 

knowledge is power.

(A) We were told by our teacher that knowledge is power.

(B) It is told by our teacher that knowledge should be power.

(C ) It is told by our teacher that knowledge must be power.

(D) It is told by our teacher that knowledge could be power.

170 �. 600 ��� 10% �	х	 2 ������ ��
 ��� ���� �. ..................... A��. (B) �. 126

(A) �. 121

(B) �. 126

(C ) �. 626

(D) �. 628
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Que. Question / Answer (with Option) Correct Answer 

171 A 93 year old female with history of Alzheimer’s disease gets admitted to an 

Alzheimer’s unit. The patient has exhibited signs of increased confusion & 

limited stability with gait. Moreover, the patient is refusing to use a w/c. 

which of the following is the most appropriate course of action for the 

occupational therapist ?

(B) Recommend family members 

bring pictures to the patient’s 

room.

(A) Recommend the patient remains in her room at all times.

(B) Recommend family members bring pictures to the patient’s room.

(C ) Recommend a speech therapist consult to the doctor.

(D) Recommend the patient attempt to walk pushing the w/c for safety.

172 Duchenne muscular dystrophy and Becker muscular dystrophy conditions are 

seen more in

(B) Boys than girls

(A) Girls than boys

(B) Boys than girls

(C ) Equally girls and boys

(D) None of the above

173 $'	� ��R ���� $'	� -�к8'ો���A< �	х#�>� :#	 Z���#< jtE�= a�� ��R 

�хો. ‘N'к����� N'к�� к��< = ,ો �	��� AQ к�����.’

(B) N'к�� '� N'к�� к��ો = ,ો 
������ A�ો к�����.

(A) N'к�� N'� N'к�� к��ો = ,ો ������ к�����.

(B) N'к�� '� N'к�� к��ો = ,ો ������ A�ો к�����.

(C ) N'к�� '� N'к�� к��ો Q,ો ������ A�ો к�����.

(D) N'к��#< '� N'к�� к��ો = ,ો ������ A�ો к�����.

174 ,�&,���� `6K�$�M-2016��� �LF�4��� х�,	 ����	� ��-#.#< �'# 

u��#� ��#���	6� к�� LA�	  ���Q ?

(D) �	� ો#�

(A) -.7#<
(B) =>7�	7
(C ) 'A�
(D) �	� ો#�

175 Rahul is dull to understand the comment of his friend. (Use 'Because') (A)

(A) Rahul cannot understand the comment of his friend because he is dull.

(B) Rahul should not understand the comment of his friend, he is dull.

(C ) Because Rahul cannot understand the comment of his friend, he was dull.

(D) Rahul is dull because he cannot understand the comment of his friend.

176 A 22 year old patient in a mental health lock-down unit suicide watch appears 

happy about being discharged. Which of the following is probably happening ?

(B) The patient’s suicide plan has 

probably progressed

(A) The patient is excited about being around family again

(B) The patient’s suicide plan has probably progressed

(C ) The patient’s plan for future have been clarified

(D) The patient’s mood is improving

177 What is the full form of PEDI ? (A) Pediatric Evaluation of Disability 

Inventory

(A) Pediatric Evaluation of Disability Inventory

(B) Pediatric Education of Disability Inventory

(C ) Performance Evaluation of Disability Inventory

(D) None of the above

178 6x
3
y

3
 - 3x

2
y = …………………. (D) =к'� .�i�� #A<

(A) 2xy(3xy
2
yz-1)

(B) 3xyz(2xyz-1)

(C ) 3x
2
y(2xyz-1)

(D) =к'� .�i�� #A<

Rahul cannot understand the 

comment of his friend because 

he is dull.
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Que. Question / Answer (with Option) Correct Answer 

179 $'	� .��� ,�'+� шp+#ો -шE� шp+ �хો� ‘@��
��’ (C ) 'к7
��
(A) 'к�
��
(B) @��	���
(C ) 'к7
��
(D) 'к7��

180
.�к��?<= qE����� -#���� :-U-#�� O,2�, к��� �ો2��Q� W�� #� 
Y�#�� шોU��#< :#	 ,'�. к���#< pK��ો#< u�� :6��	 �ો� �M #� �#< 
X�-�U� ���� к��� )	. $ :-U-#�� к�� ���A< :^L,n���� $��ો ?

(B) 1988

(A) 1987

(B) 1988

(C ) 1989

(D) 1990

181 Which device is more useful in reading or turning pages of books in case of 

upper extremity limitation ?

(D) All of the above

(A) Rubber thumblets

(B) Mouth stick

(C ) Universal cuff

(D) All of the above

182 Non traumatic causes of spinal cord injury include (D) All of the above

(A) Transverse myelitis

(B) Tumors

(C ) Abscess

(D) All of the above

183 Fools rush in where angels fear to tread. (Find adverb clause of place) (C ) Where angels fear to tread

(A) Fools rush in

(B) Rush in where

(C ) Where angels fear to tread

(D) Fools rush in where

184 88 #	 #�#���� #�#< кQ .�%�� �7� Z�2��A< ��,< .�%�� \ H��U# �ો�. (C ) 11

(A) 8

(B) 44

(C ) 11

(D) 4

185 ‘0Z� �ો7M к��<’ шp+.W H�#ો �>�*�ો2#ો .��ો :A� �хો. (C ) ,к��� к��<
(A) @;7ો к��ો
(B) 0Z  ,���<
(C ) ,к��� к��<
(D) 0Z7� к���

186 Which device is more useful to facilitate drinking for those unable to hold & 

lift a cup ?

(C ) Flexible straw

(A) Custom made adapted cutlery

(B) Universal cuff

(C ) Flexible straw

(D) Ordinary spoon

187 An occupational therapist teaching a patient with COPD pulmonary exercises 

should do which of the following ?

(A) Teach purse-lip breathing 

techniques

(A) Teach purse-lip breathing techniques

(B) Encourage repetitive heavy lifting exercises that will increase strength

(C ) Limit exercises based on respiratory acidosis

(D) Take breaks every 10-20 minutes with exercises
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Que. Question / Answer (with Option) Correct Answer 

188 ���E�#�� �+���� -B+� ��8���� LA�# R�� �ો�� ��	  )	 ? (A)

(A) ���� w	'к :#	 ���� к��к#< �~�	
(B) 7� � к��к :#	 ���� w	'к#< �~�	
(C ) ���� к��к :#	 7� � w	'к#< �~�	
(D) 7� � w	'к :#	 7� � к��к#< �~�	

189 Find out the wrong pair. (B) photo - photoes

(A) man - men

(B) photo - photoes

(C ) foot - feet

(D) mouse - mice

190 (-51)
0
 = 1 ,ો (51)

0
 = …………………. (0 = ;�,��к) (C ) 1

(A) 51

(B) 0

(C ) 1

(D) =к'� .�i�� #A<
191 In Cerebral Palsy child, alignment of thumb post orthosis is required to 

improve -

(A) Child’s pencil grip

(A) Child’s pencil grip

(B) Child’s hook grip

(C ) Child’s cylindrical grasp

(D) All of the above

192 Muscular dystrophy is which type of condition ? (C ) A & B

(A) Progressive weakening of muscles

(B) Progressive wasting or muscles

(C ) A & B

(D) Non-Progressive weakening & wasting of muscles

193 ‘{� -#��#ો )	7ો ;�’ к���,#ો .��ો :A� шોU<#	 �хો. (C )

(A) +��к��� ;� {� -#��#� кોQ )	7� � �ો� )	.
(B) {� -#��#� +��к � H�	 ���.#	 ����� ;� ��	  )	.
(C ) T��� ����� ���  U� *	�A< ��M��M X�х {� �х ����	 ,	 ;� к�����.

(D) -�s#� =к )	7� ;� $�	��� )	.
194 ABCD ��� (A→Z = 26→1) W��  �ો,�� A - I = S, E - O = Q :#	 F - U = L �ો� ,ો H - 

T = ………………

(D) O

(A) R

(B) J

(C ) I

(D) O

195 Many a man …………………..so. (A) has done

(A) has done

(B) have done

(C ) are doing

(D) were doing

196 Distributing load over several joints, it is a technique in Rheumatoid Arthritis 

for -

(B) Joint protection

(A) Energy conservation

(B) Joint protection

(C ) A & B

(D) None of the above

���� w	'к :#	 ���� к��к#< 
�~�	

T��� ����� ���  U� *	�A< ��M��M 
X�х {� �х ����	 ,	 ;� к�����.
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Que. Question / Answer (with Option) Correct Answer 

197 Which of the following correctly identifies the TAM score ? (A)

(A) The total of a finger’s flexion measurements minus the total extension 

measurements

(B) The total of a finger’s extension measurements minus the total flexion 

measurements

(C ) The total of a finger’s flexion measurements minus the total extension 

measurements divided by 2.

(D) The total of a finger’s extension measurements minus the total flexion 

measurements divided by 2.

198 �. 1200#< 10% �	х	 73 >+�.#< ��ш �. ................ A��. (B) 1224

(A) 24

(B) 1224

(C ) 50

(D) 1250

199 ‘��� � �ો7� �H�кો `�, ��� #�z ,ો ���+ો A��’ - '�̂ d, к�� )�+��� )	 ? (C ) �ો'�!
(A) �����
(B) �>�2<,
(C ) �ો'�!
(D) �#��

200 Y����, ��T�#� W�%���B< ?<�,< $#�+M ��# '��� ���� `��� к������ 
$�	� “W�%���B< K��� L����� # �ો�#�” O,2�, �	>7к�/7�6�� &�� 
*ોu�ш#� L#�,к :���.��ો��� *�	ш �	��#�� -�|�A3#	 к���� �-'��#< 
.�U#-\�L,к .��� $'����� $�ш	 ?

(D) �. 10,000/-

(A) �. 1,500/-

(B) �. 12,000/-

(C ) �. 7,500/-

(D) �. 10,000/-

The total of a finger’s flexion 

measurements minus the total 

extension measurements

Final Ans Key Page 23 of 23 Dt.  03-05-2016


